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Exawple (1):  Thvow o dic
o= $uy., 6}, 4= P(R) (c-alyebra
gencrated by the ‘e \ementary events” Y, $23...
£63 ).
P ran be defined aniquely by assigning
p(srt) =p(E) = 7 e(sey) = Vs
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A cliSc'f&‘l"c mea SuvT€ pn R can L.Q w'r.t"\'“\'en as
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Y (R) = [ £ ) S
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On 'H'\e Same mMeasutve QPaCe (IP-“, BUR“))’
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Emelcj So é( )\ bcCuuQe
P, (% o}) =0 bat gp({\o'}s = 1

Considey Two prob.
Mmeasuves ’/,M on (W—“, 9(02..» Ten  the
Fo\|ow§n5 Two statements ave e,w'\Vq‘en'f';
(1) ¥V has o dengity wxt M.
Q—) Y is absolutely con Tinuous w.s.T JA.

(1) = (@) e=sy
(‘Z\ :) (\) We need o
Consider the e % "g a“ "Cuhc""r'mg 9 with

‘H’\C ‘FO ”o w'rr\7 P"’P@m +|'e5'.
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* 9 s wmeasusable 9>o0
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Dbserve : 320 Catisties ®/ So 6 s not e"‘P.b"
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